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Topic:- General English

Out of the given four sentences, choose the one which is grammatically
correct.

1. The Principal has appoint three new teachers this year

2. The Principal has appointed three new teachers this year

3. The Principal have been appointing three new teachers this year

4. The Principal have appointed three new teachers this year

Correct Answer :-

The Principal has appointed three new teachers this year

Out of the given four sentences, choose the one which is grammatically
correct.

1. The artist has drew a beautiful picture of the baby

2. The artist has drawn a beautiful picture of the baby

3. The artist has draw a beautiful picture of the baby

4. The artist have drawn a beautiful picture of the baby

Correct Answer :-

The artist has drawn a beautiful picture of the baby

Out of the given four words only one is spelt correctly. Find the word that
is correctly spelt.

1. Annihilate

2. Absance
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3. Aquantance

4. Akcelerate

Correct Answer :-

Annihilate

Out of the given four words only one is not spelt correctly. Find the word
that is not correctly spelt.

1. Business

2. Brakage

3. Breathe

4. Brilliant

Correct Answer :-

Brakage

DIRECTIONS: Fill in the blank with the correct Preposition.

This dog does not belong _____ anyone.

1. to

2. at

3. for

4. of

Correct Answer :-

to

DIRECTIONS: Fill in the blank with the correct Preposition.

The boys became violent when the watchman refused them entry ______
the park.

1. over

2. into

3. with

4. besides

Correct Answer :-

into



7)  

8)  

9)  

10)  

DIRECTIONS: Fill in the blank with the correct article.

_______ French is the official language in many different countries.

1. An

2. The

3. No article required

4. A

Correct Answer :-

No article required

DIRECTIONS: Fill in the blank with the correct article.

The nightingale has _____ sweet voice.

1. No article required

2. the

3. an

4. a

Correct Answer :-

a

DIRECTIONS: Out of the given four options, choose the correct
conjunction to fill in the blank given in the sentence.

We must not complain about the problem, _______ help to put it right.

1. hence

2. but

3. since

4. because

Correct Answer :-

but

DIRECTIONS: Out of the given four options choose one to join the two
sentences given below to make a meaningful sentence.

He likes football.
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I prefer rugby.

1. Else

2. Because

3. Or

4. While

Correct Answer :-

While

DIRECTIONS: Out of the given options, choose the most appropriate one
to fill in the blank.

Our company _______ get the order if the client agrees to the price.

1. ought not to

2. should have

3. might

4. dare

Correct Answer :-

might

DIRECTIONS: Find the word which can be replaced for the given
sentence.

A large building on a farm in which animals or hay and grain are kept.

1. Hive

2. Hutch

3. Kennel

4. Barn

Correct Answer :-

Barn

DIRECTIONS: Find the word which can be replaced for the given
sentence.

Seeking and enjoying the company of others.

1. Alien
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2. Immigrant

3. Hostile

4. Sociable

Correct Answer :-

Sociable

DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. lf there is no error, mark your
answer as (d) i.e. ‘No error’.

Jenny doesn't (a)/ know James, (b)/ doesn’t she? (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

(c)

DIRECTIONS: In the given sentence there might be an error. Find out
which part of the sentence has an error. lf there is no error, mark your
answer as (d) i.e. ‘No error’.

It is easier (a)/ to read English (b)/ than to speak it. (c)/ No Error (d)

1. (a)

2. (b)

3. (d)

4. (c)

Correct Answer :-

(d)

DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘To see eye to eye’ in
the sentence given below?

My father and I see eye to eye on most things.

1. to disagree with someone
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2. None of the above

3. to agree with someone

4. to quarrel with someone

Correct Answer :-

to agree with someone

DIRECTIONS: A sentence with an underlined idiomatic expression is
given. What is the meaning of the idiomatic expression ‘apple of someone’s
eye’ in the sentence given below?

Harry was his first child and the apple of his eye.

1. None of the above

2. the person someone likes the most or is very proud of

3. the person someone hates the most or is ashamed of

4. the cause of the loss of vision of someone

Correct Answer :-

the person someone likes the most or is very proud of

DIRECTIONS: A sentence with an underlined word is given below. Find
the Word which is most similar in meaning to the underlined word.

He had a glimpse of the picture.

1. possession

2. idea

3. cost

4. glance

Correct Answer :-

glance

DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

The priest blessed their marriage.

1. cursed

2. praised

3. appreciated
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4. quoted

Correct Answer :-

cursed

DIRECTIONS: A sentence with an underlined word is given below. Find
the word which is opposite to the highlighted word from the given options.

These flowers are brightly colored in order to attract butterflies.

1. call

2. repel

3. stay

4. invite

Correct Answer :-

repel

Topic:- General Science

Magnesium oxide is:/मै�ीिशयम ऑ�ाइड है:

1. Basic oxide/मूलभूत ऑ�ाइड

2. Neutral oxide/�ूट� ल ऑ�ाइड

3. None of these/इनम� से कोई नही ं

4. Acidic oxide/एिसिडक ऑ�ाइड

Correct Answer :-

Basic oxide/मूलभूत ऑ�ाइड

The protozoa which can perform photosynthesis-/ वह �ोटोजोआ जो िक �काश
सं�ेषण कर सकता है-

1. Giardia/ जीआिड�या

2. Euglena/ यु�ीना

3. Paramoecium/ पेरािमिशयम

4. Amoeba/ अमीबा

Correct Answer :-

Euglena/ यु�ीना
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Light causes the sensation of-/ �काश िकस �कार की संवेदना का कारण होता है-

1. None of these/ इनम� से कोई नही ं

2. Both of the above/ उपरो� दोनों

3. Vision/ �ि�

4. Sound/ �िन

Correct Answer :-

Vision/ �ि�

Deep-sea diving vessels have to withstand pressure from the crushing
effect of sea water acting-/ गहरे समु� म� गोता लगाने वाली व�ुओ ंको समु� के पानी के �िशंग
(कुचलना) �भाव के कारण लगने वाले दाब का सामना करना पड़ता है। यह �भाव लगता है-

1. Downwards/ नीचे की ओर

2. Sideways/ एक तरफ

3. Upwards/ ऊपर की ओर

4. In all directions/ सभी िदशाओ ंम�

Correct Answer :-

In all directions/ सभी िदशाओ ंम�

What is formed when zinc reacts with sodium hydroxide?/ जब ज�ा सोिडयम
हाइड� ॉ�ाइड से �िति�या करता है, तब � या बनता है?

1. Sodium zincate and hydrogen gas/सोिडयम िजंककेट और हाइड� ोजन गैस

2. Sodium zincate and water/सोिडयम िजंककेट और जल

3. Sodium zinc-oxide and hydrogen gas/सोिडयम िजंक-ऑ�ाइड और हाइड� ोजन गैस

4. Zinc hydroxide and sodium/िजंक हाइड� ॉ�ाइड और सोिडयम

Correct Answer :-

Sodium zincate and hydrogen gas/सोिडयम िजंककेट और हाइड� ोजन गैस

Basic filtration unit of kidney is?/वृ� की िन�ंद इकाई है?

1. Ureter/ मू� निलका

2. Urethra/ मू�माग�

3. Glomerulus/ �ोमे�लस
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4. Collecting tubule/ सं�ह निलका

Correct Answer :-

Glomerulus/ �ोमे�लस

The period when menstrual cycle stops is-/ काल जब मािसक च� �क जाता है-

1. Menopause/ रजोिनवृित

2. Menarche/ रजोदश�न

3. Luteal phase/ �ुटीयल अव�था

4. Heat period/ ऊ�ा काल

Correct Answer :-

Menopause/ रजोिनवृित

Salt used in food is:/खाने म� कौन से नमक का उपयोग िकया जाता है?

1. Sodium hydroxide/सोिडयम हाइड� ो�ाइड

2. Sodium acetate/सोिडयम एसीटेट

3. Sodium chloride/सोिडयम �ोराइड

4. Calcium chloride/कै��शयम �ोराइड

Correct Answer :-

Sodium chloride/सोिडयम �ोराइड

Which of the following non-metals occurs as solids?/िन� अधातुओ ंम� से कौन-सा
ठोस �प म� पाया जाता है?

1. Iodine/आयोिडन

2. Carbon/कॉब�न

3. Sulphur/स� फर

4. All of the above/उपरो� त सभी

Correct Answer :-

All of the above/उपरो� त सभी

Which of the following is not characteristic of displacement?/ इनम� से कौन-
सा िव�थापन का अिभला��णक नही ंहै-
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1. It has both magnitude and direction/ यह प�रमाण तथा िदशा दोनो ंरखते है

2. It is always positive/ यह सदैव धना�क होता है

3. Its magnitude is less than or equal to the actual path length of the object/ इसका
प�रमाण, व�ु �ारा तय दूरी के बराबर या कम हो सकता है

4. It can be zero/ यह शू� हो सकता है

Correct Answer :-

It is always positive/ यह सदैव धना�क होता है

Which of the following is lighter than water?/िन� निल�खत म� से कौन-सा जल से
ह� का होता है?

1. Iodine/आयोडीन

2. Sulphur/स�र

3. Graphite/�ेफाइट

4. Potassium/पोटेिशयम

Correct Answer :-

Potassium/पोटेिशयम

Which of the following is the action-at-distance force?/ िन�िल�खत म� से कौन-
सा बल दूरी पर ि�या बल है?

1. Mechanical force/ यांि�क बल

2. Magnetic force/ चु�कीय बल

3. Muscular force/ शारी�रक बल

4. Frictional force/ घष�ण बल

Correct Answer :-

Magnetic force/ चु�कीय बल

Which of the following cannot produce a virtual image?/ िन� म� से कौन-सा एक
आभासी �ितिब� नही ंउ�� कर सकता:

1. Plane mirror/ समतल दप�ण

2. Convex lens/ उ�ल ल��

3. Concave mirror/ अवतल दप�ण
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4. All of the above can produce a virtual image/ उपरो� सभी एक आभासी �ितिब� उ�� कर
सकते ह�

Correct Answer :-

All of the above can produce a virtual image/ उपरो� सभी एक आभासी �ितिब� उ�� कर
सकते ह�

During electroplating, the pure metal is deposited at the-/ इले�� ो�ेिटंग के
दौरान, शु� धातु िन�ेिपत होती है-

1. Both cathode and anode/ कैथोड तथा ऐनोड दोनो ंपर

2. Anode/ ऐनोड पर

3. Cathode/ कैथोड़ पर

4. At bottom of the electrolytic cell/ िवद्यु त अपघटय सेल के प�दे पर

Correct Answer :-

Cathode/ कैथोड़ पर

Blood from the lungs enter the heart through the-/ र� फेफड़ो से �दय म� िकसके
�ारा �वेश करता है-

1. Arota/ महाधमनी

2. Venacava/ वेनाकेवा

3. Pulmonary vein/ फु�ुसीय िशरा

4. Pulmonary artery/ फु�ुसीय धमनी

Correct Answer :-

Pulmonary vein/ फु�ुसीय िशरा

Wind is ______ air./ पवन होती है _______ वायु।

1. Moving/ गितशील

2. Moving or resting/ गितशील या िवराम

3. Resting/ िवराम

4. None of these/ इनम� से कोई नही ं

Correct Answer :-

Moving/ गितशील
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Ignition temperature is the temperature at which a combustible
substance:/ ��लन ताप वह तापमान है िजस पर �लनशील पदाथ� होता है:

1. None of these/इनम� से कोई नही ं

2. Melts/िपघलता है

3. Boils/ उबलता है

4. Catches fire/ आग पकड़ लेता है

Correct Answer :-

Catches fire/ आग पकड़ लेता है

Animal cell does not have-/ जंतु कोिशका म� नही ंपाये जाते है-

1. Nucleus/ के�क

2. Chloroplast/ ह�रत लवक

3. Cytoplasm/ कोिशका ��

4. Mitochondria/ माइटोकॉ��� या

Correct Answer :-

Chloroplast/ ह�रत लवक

The smallest particle of matter is ______./ पदाथ� का सबसे छोटा कण है
_______।

1. A atom/एक परमाणु

2. A neutron/एक �ूट� ॉन

3. An electron/एक इले�� ॉन

4. A proton/एक �ोटोन

Correct Answer :-

A atom/एक परमाणु

Sexual maturity in males is started at the age of-/ नर म� ल�िगक प�रप�ता िकस
आयु म� शु� होती है-

1. 13-14 years/13-14 वष�

2. 14-15 years/ 14-15 वष�

3. 12-13 years/ 12-13 वष�

4. 16-17 years/16-17 वष�
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Correct Answer :-

13-14 years/13-14 वष�

Topic:- General Knowledge

Aadesh Shrivastava was a renowned - / आदेश �ीवा�व एक िव�ात _____ थे |

1. None of these / इनमे से कोई नही ं

2. Film-Director / िफ�-िनद�शक

3. Music-Director / संगीत िनद�शक

4. Actor / अिभनेता

Correct Answer :-

Music-Director / संगीत िनद�शक

Honey production is famous in the district of - /शहद उ�ादन के िलए कौन- सा
िजला �िस� है?

1. Datia/दितया

2. Bhopal/भोपाल

3. Satna/सतना

4. Morena/मुरैना

Correct Answer :-

Morena/मुरैना

How many World-Heritage Sites are there in Madhya Pradesh? / म��देश म�
िकतने िव�-धरोहर �थल ह�?

1. 4

2. 2

3. 3

4. 5

Correct Answer :-

3
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Hoshangabad Security Paper Mill was commissioned in the year:/ होशंगाबाद
�ितभूित कागज़ कारखाना िकस वष� म� �थािपत िकया गया था?

1. 1956

2. 1988

3. 1974

4. 1967

Correct Answer :-

1967

In which district are the Chintaharan Ganesh Mandir and Shri Rani Sati
Dadi Ji's Temple located? / िचंताहरण गणेश मंिदर एवं �ी रानी सती दादी जी की मंिदर िकस िजले
म� ��थत है?

1. Agar Malwa / अगर मालवा

2. Indore/ इंदौर

3. Gwalior/ �ािलयर

4. Rewa / रीवा

Correct Answer :-

Agar Malwa / अगर मालवा

In which of the following districts are big reserves of manganese found?/
िन� म� से कौन- से िजले म� म�गनीज के बड़े भंडार पाए गए ह�?

1. Jabalpur/ जबलपुर

2. Betul/ बैतूल

3. Datia/ दितया

4. Balaghat/ बालाघाट

Correct Answer :-

Balaghat/ बालाघाट

In which of the following years did the Madhya Pradesh Chief Minister go
on a 4-day visit to Singapore? / िन�िल�खत म� से िकस वष� म� म��देश के मु�मं�ी 4 िदनो ं
की िसंगापुर या�ा पर गए थे?

1. 2015

2. 2016



8)  

9)  

10)  

3. 2017

4. 2014

Correct Answer :-

2016

In which stadium did Sachin Tendulkar score the maiden 200 runs in an
ODI in 2010?/ िकस �ेिडयम म� सिचन त�दुलकर ने 2010 म� वनडे म� 200 रनो ंकी पहली पारी खेली
थी?

1. Holkar Stadium, Indore/ हो�र �ेिडयम, इंदौर

2. Holkar Stadium, Gwalior/ हो�र �ेिडयम, �ािलयर

3. Captain Roop Singh Stadium, Indore/ कै�ेन �प िसंह �ेिडयम, इंदौर

4. Captain Roop Singh Stadium, Gwalior/ कै�ेन �प िसंह �ेिडयम, �ािलयर

Correct Answer :-

Captain Roop Singh Stadium, Gwalior/ कै�ेन �प िसंह �ेिडयम, �ािलयर

From which of the following districts does the Chambal River originate?/
िन�िल�खत िजलो ंम� से कौन- से िजले से च�ल नदी का उदगम होता है?

1. Vidisha/ िविदशा

2. Indore/ इंदौर

3. Anuppur/ अनूपपुर

4. Raisen/ रायसेन

Correct Answer :-

Indore/ इंदौर

Who in 2015 entered the Guiness Book of World Records for the longest
continuous ride, standing on the seat of a motorcycle for 32.3 km in
Indore?/वष� 2015 म� इंदौर म� िकसने 32.2 िकलोमीटर मोटर-साइिकल पर खड़े होकर लगातार
चलाकर िगनीज बुक ऑफ व�� �रकॉड्�स म� अपना नाम दज़� िकया?

1. J. S. Verma/जे. एस. वमा�

2. Wajid Khan/वािजद खान

3. Ratnesh Pandey/र�ेश पांडे

4. Ramesh Chandra Lahoti/रमेश चं� लाहोटी

Correct Answer :-



11)  

12)  

13)  

14)  

Ratnesh Pandey/र�ेश पांडे

Which of the following places have SEZs in Madhya Pradesh?/म��देश म�
िन�िल�खत �थानो ंम� से कौन-से पर सेज़ �थान है?

1. None of these/इनमे से कोई नही ं

2. Jabalpur/जबलपुर

3. Indore/इंदौर

4. Both of the above/उपरो� त दोनों

Correct Answer :-

Both of the above/उपरो� त दोनों

Which of the following divisions have the highest number of districts? /
िन�िल�खत संभागो ंम� से िकस संभाग म� सवा�िधक सं�ा के िजले है?

1. Jabalpur / जबलपुर

2. Indore / इंदौर

3. Gwalior / �ािलयर

4. Ujjain / उ�ैन

Correct Answer :-

Indore / इंदौर

Which of the following tiger reserves also has a fort and cave shrines
with Sanskrit inscriptions?/िन�िल�खत बाघ अ�ार�ो ंम� से िकसम� एक िकला एवं सं�ृत
िशलालेख के साथ गुफा मंिदर भी है?

1. Kanha Tiger Reserve / का�ा बाघ अ�ार�

2. Panna Tiger Reserve / प�ा बाघ अ�ार�

3. Pench Tiger Reserve / प�च बाघ अ�ार�

4. Bandhavgarh Tiger Reserve/बांधवगढ़ बाघ अ�ार�

Correct Answer :-

Bandhavgarh Tiger Reserve/बांधवगढ़ बाघ अ�ार�

Which is the state animal of Madhya Pradesh?/ म� �देश का रा� पशु कौन-सा
है?
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1. Tiger/बाघ

2. Wild pig/जंगली सूअर

3. Baboon/लंगूर

4. Swamp deer/ बारहिसंगा

Correct Answer :-

Swamp deer/ बारहिसंगा

The recently launched Shaurya Smarak in Bhopal is dedicated to the:/
भोपाल म� हाल ही म� �थािपत शौय� �ारक िकसको समिप�त है?

1. None of these/ इनम� से कोई नही ं

2. Freedom-fighters/ �तं�ता- सेनानी

3. Farmers/ िकसान

4. Martyrs/ शहीदों

Correct Answer :-

Martyrs/ शहीदों

The only state to have more cities in the Top 50 than Madhya Pradesh in
the Swachh Survekshan 2017 is:/ ��ता सव��ण 2017 की शीष� 50 र� िकंग म� म� �देश से
अिधक �ादा शहरो ंकी सं�ा रखने वाला रा� कौन- सा है?

1. Karnataka/ कना�टक

2. Kerala/ केरल

3. Gujarat/ गुजरात

4. Rajasthan/ राज�थान

Correct Answer :-

Gujarat/ गुजरात

The river Pench meandering through the Pench National Park divides it
between Chhindwara and ______ districts:/ प�च रा�� ीय उ�ान के मा�म से प�च नदी को
िछंदवाड़ा और _______ िजला िवभािजत करता है।

1. Seoni/ िसवनी

2. Rewa/ रीवा

3. Rajgarh/ राजगढ़



18)  

19)  

20)  

4. Ratlam/ रतलाम

Correct Answer :-

Seoni/ िसवनी

The Bargi Dam is on the river - / बरगी बांध िकस नदी पर है?

1. Chambal/चंबल

2. Narmada/नम�दा

3. Tapti/ता�ी

4. Mahanadi/महानदी

Correct Answer :-

Narmada/नम�दा

The jewel of the Kanha National Park is the:/िन� म� से का�ा रा�� ीय उ�ान का
अनमोल र� कौन-सा है?

1. Cranes / सारस

2. Crocodiles / मगरम�

3. Barsingha / बारहिसंगा

4. Lions / िसंह

Correct Answer :-

Barsingha / बारहिसंगा

Phag is popular form of folk singing in the region of:/ फ़ाग िकस �े� का
लोकि�य लोक गायन है?

1. Bundelkhand/ बंुदेलखंड

2. Chitrakoot/ िच�कूट

3. Nimar/ िनमाड़

4. Malwa/ मालवा

Correct Answer :-

Nimar/ िनमाड़

Topic:- General Hindi



1)  

2)  

3)  

4)  

महादेवी वमा� की कृित है

1. �ण�धूिल

2. खंजन नयन

3. गीितका

4. अतीत के चलिच�

Correct Answer :-

अतीत के चलिच�

‘डोगंा’ श� है :

1. संकर

2. त�म

3. त�व

4. देशज

Correct Answer :-

देशज

‘महौषध’ म� संिध है :

1. अयािद �र संिध

2. वृ�� �र संिध

3. �ंजन संिध

4. िवसग� संिध

Correct Answer :-

वृ�� �र संिध

‘�ु�’ का िवलोम श� है :

1. मोटा

2. लंबा

3. िवराट

4. लघु



5)  

6)  

7)  

8)  

Correct Answer :-

िवराट

‘Autonomy’ का िहंदी पा�रभािषक श� है :

1. ���प

2. आ�भीत

3. �ाय�ता

4. �नािमक

Correct Answer :-

�ाय�ता

‘हे िगरजा, ह� िभ�ु कहाँ? / बिल �ार गया है आज रमा!’− पं�� म� है :

1. अ�ो�� अलंकार

2. सहो�� अलंकार

3. व�ो�� अलंकार

4. अितशयो�� अलंकार

Correct Answer :-

व�ो�� अलंकार

‘पािणनीय’ श� म� ��य है :

1. इय

2. ईय

3. णीय

4. इणीय

Correct Answer :-

ईय

‘काँटा िनकलना’ मुहावरे का आशय है :

1. बाधा दूर होना

2. अंतस की कसक िमटना



9)  

10)  

11)  

12)  

3. उ� सभी

4. मन का �ेश िमटना

Correct Answer :-

उ� सभी

‘अपवाद’ श� का अथ� नही ंहै :

1. बदनामी

2. सामा� िनयम को बािधत या मया�िदत करने वाला िवशेष उदाहरण

3. कलंक

4. �वधानकारक व�ु

Correct Answer :-

�वधानकारक व�ु

‘िजसके पास िजतना चाहे उतना धन हो’− वा� है :

1. आ�ासूचक वा�

2. इ�ासूचक वा�

3. िवधानवाचक वा�

4. संकेताथ�क वा�

Correct Answer :-

इ�ासूचक वा�

‘सागर’ श� का पया�यवाची है :

1. अंबुद

2. अण�व

3. जलद

4. वा�रद

Correct Answer :-

अण�व

‘दोपहर बाद सा�ा�ार �आ’− वा� है :
ि े



13)  

14)  

15)  

1. िनषेधपरक संरचना

2. िवन�तासूचक संरचना

3. कालबोधक संरचना

4. िविधसूचक संरचना

Correct Answer :-

कालबोधक संरचना

‘गुणभरा’ पद म� समास है :

1. अ�यीभाव

2. ि�गु

3. त�ु�ष

4. �ं�

Correct Answer :-

त�ु�ष

‘�तं� मत’ समाचार प� �कािशत होता है :

1. पटना से

2. भोपाल से

3. वाराणसी से

4. जबलपुर से

Correct Answer :-

जबलपुर से

िव� म� सवा�िधक बोली जाने वाली भाषाओ ँ‘िहंदी’ का �थान है :

1. चौथा

2. दूसरा

3. तीसरा

4. पाँचवा

Correct Answer :-

तीसरा



16)  

17)  

18)  

19)  

िन�िल�खत म� िवलोम श�-यु� नही ंहै :

1. �ाचुय�-कमी

2. अकूल-�ितकूल

3. नफा-घाटा

4. घटी-बढ़ती

Correct Answer :-

अकूल-�ितकूल

िन�िल�खत म� शु� वा� है :

1. इन हालातो ंम� मुझे तीसरा िव�यु� शु� होने की आशा है।

2. सािह� और जीवन का अिभ� संबंध है।

3. हमारी सौभा�वती क�ा का िववाह होने जा रहा है।

4. बाघ और बकरी एक घाट पानी पीती ह�।

Correct Answer :-

सािह� और जीवन का अिभ� संबंध है।

िन�िल�खत म� शु� श� है :

1. अंिगरा

2. उ� सभी

3. अंगार

4. अंगारा

Correct Answer :-

उ� सभी

िन�िल�खत म� समो��रत िभ�ाथ�क श�-यु� नही ंहै :

1. ह�ा-क�ा

2. ख़ुदा-खुदा

3. चैन-बेचैन

4. रैन-िदवस



20)  

1)  

2)  

Correct Answer :-

ह�ा-क�ा

मैिथलीशरण गु� की कृित ‘पंचवटी’ है :

1. महाका�

2. खंडका�

3. गीितका�

4. �गीत

Correct Answer :-

खंडका�

Topic:- General Maths

DIRECTIONS: Find the wrong term in the given number series:/िनद�श: दी �ई
सं�ा �ेणी म� गलत पद �ात कर�।

1, 27, 25, 343, 82, 1331

1. 1331

2. 343

3. 25

4. 82

Correct Answer :-

82

What is the least number to be subtracted from 945 to make it a perfect
square?/945 म� से � यूनतम कौन सी सं� या घटाई जाए िक वह एक पूण� वग� बन जाए?

1. 45

2. 16

3. 30

4. 24

Correct Answer :-

45



3)  

4)  

5)  

Girish, Sudhir and Rajan working together complete a job in 3 days. If
Sudhir and Girish together can complete the same task in 4 days, then in
how many days Rajan can do the same task alone?/िगरीश, सुधीर और राजन िकसी
काय� को एक साथ काय� करते �ए 3 िदनो ंम� पूरा करते है। अगर सुधीर और िगरीश उसी काय� को 4 िदनो ंम�
पूरा कर सकत� ह� तो राजन अकेले उस काय� को करने म� िकतना समय लेगा?

1. 22 Days/22 िदन

2. 25 Days/25 िदन

3. 10 Days/10 िदन

4. 12 Days/12 िदन

Correct Answer :-

12 Days/12 िदन

The roots of the quadratic equation y2–13y+42=0 are:/ि�घात समीकरण y2–
13y+42=0 के मूल है:

1. 6, 7

2. -6, 7

3. 4, 9

4. -6, -7

Correct Answer :-

6, 7

Three friends individually can complete a work in 4, 5 and 10 days
respectively. If they work together then in how many days the work will be
completed?/तीन िम� अलग-अलग एक काय� को �मशः 4, 5 और 10 िदनो ंम� समा� कर सकते है।
यिद वे एक साथ िमल जाए तो पूरा काय� िकतने िदनो ंम� समा� हो जाएगा?

1.  Days/  िदन

2.  Days/  िदन

3.  Days/  िदन

4.  Days/  िदन

Correct Answer :-

 Days/  िदन



6)  

7)  

8)  

9)  

If the area of a triangle is 300 m2 and base: height is 2:3. Find its height./
यिद एक ि�भुज का �े�फल 300 वग�मीटर है तथा आधार: ऊँचाई = 2:3 है, इसकी ऊँचाई �ात कीिजए.

1. 45 m/45 मी

2. 30 m/30 मी

3. 25 m/25 मी

4. 20 m/20 मी

Correct Answer :-

30 m/30 मी

The perimeter of a rhombus is 100 cm and one of its diagonals is 30 cm.
The other diagonal is:/ एक समचतुभु�ज का प�रमाप 100 सेमी है तथा इसका एक िवकण� 30
सेमी है, तो दूसरा िवकण� होगा:

1. 28 cm/ 28 सेमी

2. 40 cm/ 40 सेमी

3. 32 cm/ 32 सेमी

4. 52 cm/ 52 सेमी

Correct Answer :-

40 cm/ 40 सेमी

A’s salary is 50% more than that of B. Then B’s salary is less than that of
A by:/A का वेतन B के वेतन से 50% अिधक है, तो B का वेतन A से िकतना कम है?

1. 50%

2. 33 %

3. 33 %

4. 44 %

Correct Answer :-

33 %

DIRECTIONS: What should come in place of the question mark (?) in the
following question?/ िनद�श: िन� निल�खत �� न म� �� नवाचक िच� ह (?) के � थान पर � या आना
चािहए?



10)  

11)  

12)  

 +  +  –  = 20

1. 7

2. 19

3. 17

4. 13

Correct Answer :-

17

DIRECTIONS: What should come in place of the question mark (?) in the
following series?/िनद�श: िन�िल�खत �ेणी म� ��वाचक िच� (?) के �थान पर �ा आना चािहए?

992, 1056, ?, 1190, 1260, 1332

1. 1122

2. 1092

3. 1112

4. 1082

Correct Answer :-

1122

A person travels equal distance with speed of 3 kms/hour, 4 kms/hour
and 5 kms/hour and takes a total time of 47 min. The total distance (in kms)
is:/एक � य�� तीन समान दू�रयो ंको �मश: 3 िकमी/घ� टा, 4 िकमी/घ� टा और 5 िकमी/घ� टा की चाल
से तय करता है। यिद तीनो ंदू�रयो ंको वह कुल 47 िमनट म� तय करता है, तो कुल दूरी (िकमी म�) है:

1. 3

2. 4

3. 2

4. 5

Correct Answer :-

3

The ratio of Vimal's and Arun’s present age is 3:5 respectively and sum
of their ages is 80 years. The ratio of their ages after 10 years will be:/ िवमल
और अ�ण की व��मान आयु का अनुपात �मशः 3:5 और उनकी आयु का योगफल 80 वष� है। 10 वष� बाद
उनकी आयु का अनुपात �ा होगा?



13)  

14)  

15)  

1. 3:2

2. 1:2

3. 3:5

4. 2:3

Correct Answer :-

2:3

At what speed does a man walk who passes through a street 600 metre
long in 5 minutes?/600 मीटर ल� बी गली को 5 िमनट म� तय करने के िलए � य�� की चाल � या
होगी?

1. 27/5 kmph/27/5 िकमी/घ� टा

2. 18/5 kmph/18/5 िकमी/घ� टा

3. 9/5 kmph/9/5 िकमी/घ� टा

4. 36/5 kmph/36/5 िकमी/घ� टा

Correct Answer :-

36/5 kmph/36/5 िकमी/घ� टा

A dealer allows his customers a discount of 25% and still gains 25%. If
an article costs Rs.1,440 to the dealer, then its marked price is:/एक िव�ेता
अपने �ाहको ंको 25% की छूट देता है और िफर भी 25% का लाभ कमाता है। यिद व�ु की लागत िव�ेता
को �. 1,440 आती है, तो इसका अंिकत मू� है:

1. Rs.1,850

2. Rs.1,500

3. Rs.2,560

4. Rs.2,400

Correct Answer :-

Rs.2,400

The third proportion of 0.18 and 0.24 is:/ 0.18 तथा 0.24 का तीसरा समानुपात है:

1. 0.30

2. 0.21

3. 0.26

4. 0.32



16)  

17)  

18)  

Correct Answer :-

0.32

Average of first five multiples of 5 is?/5 का �थम पाँच गुणज का औसत है:

1. 15

2. 15.3

3. 15.1

4. 15.5

Correct Answer :-

15

The simple interest on a sum of money is  of the principal and the
number of years is equal to the rate percent per annum. Find the interest

rate per annum?/िकसी रािश पर साधारण � याज मूलधन का  है तथा वष� की सं� या �ितवष� �ितशत
दर के बराबर है। �ितवष� �ाज दर �ात कीिजए|

1. 2%

2. 1%

3. 3%

4. 4%

Correct Answer :-

2%

Find the smallest of the following fractions./िन�िल�खत िभ�ो ंम� से सबसे छोटी
िभ� न �ात कर�|

1. 

2. 

3. 

4. 

Correct Answer :-



19)  

20)  

Find the least number of five digits which when divided by 12, 16 and 40
leaves in each case a remainder 8:/पाँच अंको ंकी वह सबसे छोटी सं� या �ात कीिजए िजसम�
12, 16 तथा 40 �ारा भाग िदए जाने पर हमेशा शेषफल 8 बचता है:

1. None of these/इनम� से कोई नही ं

2. 10,072

3. 10,088

4. 10,080

Correct Answer :-

10,088

Find the largest of the following fractions./िन�िल�खत िभ�ो ंम� से सबसे बड़ी िभ� न
�ात कर�|

1. 

2. 

3. 

4. 

Correct Answer :-


